gr 8 u1 sqgre day 17 pythag problems.notebook

Warm Up Grade

November 27, 2018

B £
D: alen D b A (00 78
/‘;.(’\\- "3 A\ Nov.27.2018 [ ©)F 0o
)© \ @f N A

c Is the quadrilateral a

rectangle?
cz ) a* +%
250 Y 10° & @°

Copy
this
down



gr 8 u1 sqgre day 17 pythag problems.notebook November 27, 2018

Al ot Homework Solutions pg. 43 # 9,10,12(a,c), 14
3 4R (3

@
_-T-—’
@;ﬂ, (P\/" KG -{E" \3__‘—[%

c . 3
™= Lz—]—@) ?

3+ 13
kg |
Vs 1k is @ vight Erigle.
T4 79 et & P‘_L;'vabm 'br»p!e

‘-‘*—c.ss.b-Se. ohe s}a‘& '|s thG- Lj\ble



gr 8 u1 sqgre day 17 pythag problems.notebook November 27, 2018

Homework Solutions pg. 43 # 9,10,12(a,c), 14

@'0 TS Hhe number are Py .-b")p}es
£ will foem & l‘.lg)'fé D-Héﬁ |

3,5\ 723?467
V2 40 o +25
£ will net >
Iz will ny ,
Sorm o r"\g‘ﬂk triongle .
\\ |
34,5 "7,' S
| 6,8,10 b\q ,o
Ry 12, 1p [ 20
| 15, 20,25 \5| 20 29
T T2l a5 38
‘D\ /). -e'Hw-g_ oM ,\-UJ ‘br‘.\ple. Glbk
03 Tl‘.|.?\-¢, S ) )2\ ,3
m-"'*\u 10, ?-"}\ 2b
e \$, 36,39
20, LH?) 52 2 2
G- a254bb
25, 6’0) ‘ b2s +3tas



gr 8 u1 sqgre day 17 pythag problems.notebook November 27, 2018

Homework Solutions pg. 43 # 9,10,12(a,c), 14

ga:) )L}l L}%‘ —_

lLP‘t H‘a’L}
19 + 236 L.
2500 m135113 ’(%D

55 al-)|32\~

2} 3t

W™ wisting o0
N 12, 31

12 437*

a4, 13 55, 4%

732 55+ 4E”
3625+ 230
238 329

S
Nes S o T“—&Gﬂ)‘”



gr 8 u1 sqgre day 17 pythag problems.notebook November 27, 2018

Page 48-49 #2, #3, #4a, #5a
Homework Solutions

2) Must label the longest side (opposite to 90°), the hypotenuse , c.

The other two sides does not matter which is a or b.
3) When given legs and asked to find longest side, c then add. When

given c and a Iegl";hen subtract
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Applying the Pythagorean Theorem

. a .a m

Now that we know how to use the Pythagorean Theorem, we will
apply it to "real life" situations.

A doorway is 2.0 m high and 1,0 m wide. A square piece of plywood has 1
side length 2.2 m. Can the plywood fit through the door?

Always start with a diagram and fill in what you know.

Ask yourself, What shape is the doorway? What is the longest part of
the doorway?

The longest part is the (}\ oL oy\o\.\ / ‘\3 M“§
Q\ To find the length of the
C use Pythagorean Theorem.

:- 2n 2 2 2
B T cc=a"+b
C2:22+ 12
c=4+1
t=5

ot 75
b c=5 or2.2m

A piece of plywoo.. 2.2 m long could fit through
the door.

&>
2)A ramp is used to load a snow machine onto a trailer. The ramp as a horizontal

length of 168 cm and sloping length of 175 cm. The side view is a right triangle.
HGW high is the ramp? —

Remember start by drawing a diagram and filling in what you know.
a T
b l C b = C ‘L_ ¢ 8 2
missin -l
iy | 305 g = (1) - (le?)

L~ ) ‘
Yy b= 20635 ~ 2823y

= YQep b= 2 Hof
B b= \2yg
b= Ll?

2

The ramp is lﬁcm high.
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Marina helped her dad build a small rectangular table for her bedroom. The
tabletop has a length of 56 cm and a width of 33 cm. The diagonal of the
tabletop measures 60 cm. Does the tabletop have square corners? How do G408

you know?
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